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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı̨œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

¬ı˛¸±˚˛Ú ( Chemistry ) 
‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

Ó‘¬Ó¬œ˚˛ ¬ÛS ( 3rd  Paper : Inorganic Chemistry-II) 

¸˜˚˛ – ≈√̋ ◊√√ ‚KI◊±¬  Û”Ì«˜±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ Œfl¡ÀÈ¬ 

ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈√íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡] [’] Œ¬ıø¬ı˛˘ ŒÔÀfl¡ Œ¬ıø¬ı˛ø˘˚˛±˜ øfl¡ˆ¬±À¬ı øÚ©®±˙Ú fl¡¬ı˛±     

˝√√̊ ˛  ∑  ¸˜œfl¡¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº 3 + 2 
  [’±] 14 Ú— Œ|Ìœ¬ı˛ õ∂Ô˜ Œ˜Ã˘ fl¡±¬ı«ÀÚ¬ı˛ ’±‰¬¬ı˛Ì ’Ú… 

Œ˜Ã˘&ø˘ ŒÔÀfl¡ ¬ı…øÓ¬Sê˜œº fl¡±¬ı˛Ì Œ√ø‡À˚˛ ’±À˘±‰¬Ú± 
fl¡èÚº 5 

 [‡]  ¬¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì¸˝√√ øfl¡ ‚ÀÈ¬ ø˘‡≈Ú – 2
  

! 

1

2
 × 4 

  [’¡]   

! 

B2H6-¤ ’…±À˜±øÚ˚˛± Œ˚±· fl¡À¬ı˛ Î¬◊M√√5 fl¡¬ı˛± ˝√√˘º   

  [’±]   

! 

Fe2O3 ˘¬ıÌøÈ¬ Œ¬ı±¬ı˛±' ø˜ø|Ó¬ fl¡À¬ı˛ õ≠±øÈ¬Ú±˜ 
Ó¬±À¬ı˛¬ı˛ ¸±˝√√±À˚… Î¬◊M√√5 fl¡¬ı˛± ˝√√̆ º 

  [˝◊√√] NaOCl ^¬ıÌ øÊ√À˘øÈ¬ÀÚ¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ ’…±À˜±øÚ˚˛± 

^¬ıÀÌ Œ˚±· fl¡¬ı˛± ˝√√̆ º 

  [÷] Œ˘±˝√√± Ò±Ó≈¬øÈ¬ ‚Ú   

! 

HNO3  ¸˝√√À˚±À· Î¬◊M√√5 fl¡¬ı˛± ˝√√̆ º 

 [·]  È¬œfl¡± ø˘‡≈Ú [ Œ˚ Œfl¡±Ú ≈√øÈ¬ ] – 5 × 2 

  [’¡] fl¡…±˘ø¸˚˛±˜ fl¡±¬ı«±˝◊√√Î¬  

  [’±¡] ̋ √√±˝◊√√E±ÀÊ√±ø˚˛fl¡ ’…±ø¸Î¬  

  [˝◊√√¡] Œ¬ı±¬ı˛±'º 

 [‚] [’] ’±˚˛Úœ˚˛ fl‘¡à±À˘¬ı˛ Ê√±ø˘fl¡± ˙øMê√ øÚÌ«˚̨ fl¡¬ı˛ÀÓ¬ ¬ıÚ«- 

Œ˝√√¬ı±¸« ¸±˝◊√√Àfl¡˘ øfl¡ˆ¬±À¬ı ¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛À¬ıÚ ∑ Î¬◊¬Û˚≈ƒMê√ 

Î¬◊√±˝√√¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº 3 + 2 

  [’±] 13 Ú— Œ|Ìœˆ≈¬Mê√ Œ˜Ã˘&ø˘¬ı˛ ˜ÀÒ… ˝√√±˝◊√√E±˝◊√√Î¬ ¤¬ı— 

˝√√…±˘±˝◊√√Î¬ Ò˜« øÚÀ˚˛ Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± fl¡èÚº  

     2
  

! 

1

2
 × 2    

    ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡] Œ¬ı±¬ı˛Ú ¤¬ı— ø¸ø˘fl¡ÀÚ¬ı˛ ˜ÀÒ… ¬fl¡Ì« ¸•ÛÀfl«¡¬ı˛ fl¡±¬ı˛Ì 
’±À˘±‰¬Ú± fl¡èÚº ¤À√¬ı˛ øÓ¬ÚøÈ¬ ¤fl¡˝◊√√ Ò¬ı˛ÀÚ¬ı˛ Ò˜« Î¬◊À~‡ 
fl¡èÚº ø¸ø˘fl¡ÀÚ¬ı˛ ≈√øÈ¬ ¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Úº 2  + 3 + 1   
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 [‡¡] ø¸ø˘Àfl¡±Ú ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ Ó¬±À√¬ı˛ øfl¡ fl¡À¬ı˛ ∆Ó¬¬ı˛œ fl¡¬ı˛± 

˝√√̊ ˛ ∑ ¤À√¬ı˛ &èQ¬Û”Ì« ¬ı…¬ı˝√√±¬ı˛ Î¬◊À~‡ fl¡èÚº  

    2  + 2 + 2 

 [·¡] [’] ˝√√±˝◊√√ÀE±ÀÊ√ÀÚ¬ı˛ ’ôLÒ‘«øÓ¬ ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ ¤¬ı˛ 

fl¡±¬ı˛Ì Î¬◊À~‡  fl¡èÚº  

  [’±¡] Ù≈¬˘±ø¬ı˛ÀÚ¬ı˛ ¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Úº [2 + 2] + 2 

 [‚¡]  [’] øÙË¬˚˛Ú ·…±¸øÈ¬ øfl¡ fl¡À¬ı˛ ¬Ûø¬ı˛À¬ı˙ ”√̄ ∏Ì fl¡À¬ı˛ ∑  

  [’±]   

! 

H3PO3,  H3PO4 ›   

! 

H3PO2 -¤¬ı˛ ’±ø•°fl¡ 

Ó¬œ¬ıËÓ¬±¬ı˛ ÿX«-Sê˜ ’Ú≈˚±˚˛œ ¸±Ê√±Ú › ’±¬ÛÚ±¬ı˛ 

Î¬◊M√√¬ı˛øÈ¬ fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº  3 + 3 

 [„√√¡]  øÈ¬Ú Œà±Ú ŒÔÀfl¡ øÈ¬Ú øfl¡ fl¡À¬ı˛ ¬Û±›˚˛± ˚±˚˛ ∑ øÈ¬Ú Œõ≠· 

¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑  øÈ¬Ú Ò±Ó≈¬¬ı˛ ¬ı…¬ı˝√√±¬ı˛ Î¬◊À~‡ fl¡èÚº 

    3  + 2 + 1 

 [‰¬√¡] [’¡]   

! 

B2H6-¤¬ı˛ ·Í¬Ú MO ¡Z±¬ı˛± ¬ı…±‡…± fl¡èÚº  

  [’±] Œ¬ı±¬ı˛±øÊ√Ú ¤¬ı— Œ¬ıø?ÀÚ¬ı˛ ˜ÀÒ… ¤fl¡øÈ¬ ¬ı˛±¸±˚̨øÚfl¡ 

ø¬ıøSê˚˛±¬ı˛ ¸±˝√√±À˚… ¬Û±Ô«fl¡… fl¡èÚº 3 + 3 

    ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 

 [fl¡√√¡] ëŒ¬ı±ø¬ı˛fl¡ ’…±ø¸Î¬ ø¬Ûø26√̆ íº ¬ı…±‡…± fl¡èÚº  

 [‡]  Œ¬ı±¬ı˛Ú Œflv¡±¬ı˛±˝◊√√Î¬-¤¬ı˛ ’±Ìø¬ıfl¡ ¸—Àfl¡Ó¬   

! 

BCl3  øfl¡c 

’…± ≈̆ø˜øÚ˚˛±˜ Œflv¡±¬ı˛±˝◊√√Î¬-¤¬ı˛ ’±Ìø¬ıfl¡                    

¸—Àfl¡Ó¬   

! 

Al2Cl6  Œ˘‡± ˝√√̊ ˛ Œfl¡Ú ∑ fl¡±¬ı˛Ì ¬ı ≈̆Úº    

 [·]    

! 

Al2O3  ŒÔÀfl¡ fl¡±¬ı«Ú ø¬ıÊ√±¬ı˛Ì ¬ÛXøÓ¬ÀÓ¬ 

’…± ≈̆ø˜øÚ˚˛±˜ øÚ©®±˙Ú fl¡¬ı˛± ˚±˚̨ Ú± Œfl¡Ú ∑  

 [‚]    

! 

N(CH3)3  é¬±¬ı˛fl¡œ˚˛ øfl¡c   

! 

N(SiH3)3 Ú˚˛ Œfl¡Ú ∑   

 [„√√]  LiAlH
  

! 

4 ¤¬ı— LiBH
  

! 

4 ¤¬ı˛ ˜ÀÒ… ¬ı˛±¸±˚˛øÚfl¡ 

¸øSê˚˛Ó¬±¬ı˛ Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± fl¡èÚº   

 [‰¬]  ˝√√±˝◊√√Eø'˘ ’…±ø˜Ú Ê√±¬ı˛fl¡ › ø¬ıÊ√±¬ı˛fl¡ Î¬◊ˆ¬˚˛ ø˝√√̧ ±À¬ı 

fl¡±Ê√ fl¡À¬ı˛º Î¬◊¬Û˚≈Mê√ ø¬ıøSê˚˛±¸˝√√ Î¬◊À~‡ fl¡èÚº 

 [Â√]¡√√  ëSF
  

! 

6 øÚø©ç¡˚˛ øfl¡c TeF
  

! 

6 ‡≈¬ı ¸øSê˚˛í — ˜Ó¬±˜Ó¬ 

ø√Úº  

 [Ê√]  BrF
  

! 

5 ¤¬ı—   

! 

AsF5-¤¬ı˛ ø˜|ÀÌ¬ı˛ ¬Ûø¬ı˛¬ı±ø˝√√Ó¬± ¬ıÓ«¬˜±Ú 

Œfl¡Ú ¬ı…±‡…± fl¡èÚº 
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( English Version ) 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions.   10 × 2 = 20 

 A. (a) How is beryllium extracted from beryl ? 

Discuss with equations. 3 + 2 

  (b) The behaviour of Carbon, the first 

element of group-14 is different from 

the other elements. Discuss stating 

reasons. 5  

 B. Write with chemical equations what happens 

when — 2
  

! 

1

2
 × 4  

  (a) Ammonia is added to   

! 

B2H6 and heated. 

  (b) Borax is mixed with   

! 

Fe2O3 and the 

mixture is heated on Pt wire.  

  (c) In presence of gelatine NaOCl solution 

is added to ammonia solution.  

  (d) Fe metal is heated with conc.   

! 

HNO3 . 

 C. Write short notes on ( any two ) : 5 × 2 

  (a) Calcium carbide  

  (b) Hydrazoic acid 

  (c) Borax. 

 D. (a) How is Born-Haber cycle used to get 

the lattice energy value of an ionic 

crystal ? Discuss with suitable 

example. ( 3 + 2 )   

  (b) Give a comparative study of the 

elements of group-13 with reference to 

their halides and hydrides. ( 2
  

! 

1

2
 × 2 )  

     

Group-B 

2. Answer any three questions : 6 × 3 = 18 

 A. Discuss with reasons the diagonal 

relationship of B and Si. Mention three 

similar properties of these two elements. 

Mention two uses of silicon. 2 + 3 + 1 

 B.  What do you mean by silicones ? How are 

they prepared ? State important applications 

of it.  2 + 2 + 2 
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 C. (a) What do you mean by occlusion of 

hydrogen ? Explain the cause of 

occlusion.  

  (b) What are the uses of fullerenes ? 

    ( 2 + 2 ) + 2 

 D. (a) How does Freon pollute the 

environment ?  

  (b) Arrange   

! 

H3PO3,  H3PO4 and   

! 

H3PO2  in 

order of increasing acidity and explain 

your answer with reason. 3 + 3 

 E. How can Tin be obtained from Tin stone ? 

What is Tin plague ? Write the uses of Tin 

metal.  3 + 2 + 1 

 F. (a) Discuss the structure of   

! 

B2H6 by MO. 

  (b) Differentiate borazine with benzene by 

a chemical reaction. 3 + 3 

Group-C 

3.  Answer any four questions. 3 × 4 = 12 

  
A. 'Boric acid is slippery. Explain.

 

  
B. Molecular formula of 'Boron chloride is 

  

! 

BCl3  but that of aluminium chloride is 

  

! 

Al2Cl6 .' — Why ?
  

  C. Al can not be obtained from   

! 

Al2O3  by 

carbon reduction process. Explain why.  

  D.   

! 

N(CH3)3  is basic but not   

! 

N(SiH3)3.  

Why ? 

  E. Compare the chemical reactivity of 

LiAlH
  

! 

4 and LiBH
  

! 

4.  

  F. Hydroxyl amine can act both as an 

oxidising and a reducing agent. — Give 

relevant reactions. 

  G. SF
  

! 

6 is inert but TeF
  

! 

6 is very active. — 

Comment.   

  H. Explain the reason of conductivity of 

the mixture of BrF
  

! 

5 and   

! 

AsF5.    
    


